Worksheets

Write down the answers to the following expressions:

INTEGERS 1

3°ESO

a) —3[4-(-5)-(-3)]+(-2)

b) —4+5-(-2)-[4+(-3)]

c) (-5)-3+4-[-3-(-2+1)]

d) (_2)3 4_22’(_3) e) (_4)'[__31‘;2'(_2)] f) (_47):2(2_2)
—2+(-2f-2.5 h) 2-2-|(-5 3-4-(-3+6)| |0 |77 +(-3F |+ (-2 +1
~2.3-(-1y

) -l4-CD- 3410~ (27|

K) (-3+1)%-4+2+2-3

2-3-(-1-3)
-2-5+3-(-H)

1)

Guadalupe Buendia Castifieira




Worksheets

3°ESO

SOLUTION
a) c)
4 (5)(3s(2f= |-4+5-(2)[4+(-3]=  |(-B)3+4[3(-2+1)=
=-3.[4-15]+4= =—415+2.[1]= =-15+4.[-3-(-1)]=
—_3.(-11)+4= =—4+5+2=3 =-15+4.3=-15+12=-3
=33+4=37
d) f)
(op_4-2(3)_ (4)[-3+2.(-2) _ (-4)-3-(-2) _
2 7-4.2
:—8—4+6:—8—£: (-4)[-3-4] _—4+6_2
2 2 7-8 -1
- -8-5=-13 _4)6N
9) i)
_234(-2f-25 2-2.|-5P-3-4.(-3+6)|= | 72+ (=3P ]+ (-2} +1=
—2.3-(-1° —2-2-[25-3-4.3]= =[-49+9]+-8+1=
_-8+4-10 4-18 =2-2.[75-12]= = (-40)=8+1=-5+1=-4
T o—6-(+1)  -—6-1 =2-2-63=2-126=-124
~14
=122
-7
J) k) )
Ja-(1)-(-3+10)-(c2P|=| (-3+1)2-4+2+2.3= 2-3-(-1-3) _
=—[4-(-1)-7+8]= _(-2)2-216= _22.5;?—1(65)
[4+7+8]=-19 —4_2.6-8 =S E"
_2+12 14
T -10+48 -2
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